Exercise 2b.3:

Given a string (character) UTM1435.
a) Convert the string to its ASCII hexadecimal value.
b) Calculate the odd parity bit and insert as MSB.

a) Recalculate the ASCII value in hexadecimal.



Number| Even Odd
1s
&

Even

Odd

Character ASCII Binary Odd parity bit + New ASCII
(ASCII) (Hex) Binary (Hex)
U
T
M
1
4
3
5
h

N
&)



Decimal Hex ASCI | Decimal Hex ASCI | Decimal Hex SCI | Decimal Hex ASCI
(1] 00 MLIL a2 20 {I:ulank} B 40) @ 4G B0 '
1 01 S0OH a3 21 ! B5 41 A a7 61 a
2 02 STX 34 27 - 13 42 B a8 6.2 b
3 03 ETx a5 23 e By 43 C G99 6.3 C
4 04 EOQT 36 24 % (T3] 44 0 100 64 d
5 05 ENG ar 25 % B4 45 E 101 65 a
(3] 06 ACK a8 26 & 70 46 F 102 66 f
T oy BEL 39 27 ' [l 47 G 103 67 q
H 08 BS 40 28 ( 72 48 H 104 68 h
9 09 HT 41 29 | 73 49 I 105 (53] i
10 (A LF 42 28 ¥ 74 44 J 106 T4 |
11 B VT 43 2B * 75 4B it 107 5]=] k
12 ne FF 44 20 Fils 4C L 108 6 I
13 oo CR 45 20 T 40 M 109 60 m
14 0k S0 46 2k . s ik M 110 G n
15 OF Sl 47 2F ! 79 4F ] 111 G QO
16 10 DLE 48 30 0 B 50 H 112 70 B
17 11 DCt 49 31 1 B a1 ] 113 71 q
18 12 oC2 50 32 2 B2 52 ] 114 T2 r
19 13 ODC3 a1 33 3 B3 53 S 115 T3 5

20 14 DC4 52 34 4 B 54 T 116 T4 1
21 15 MO 53 35 5 BS 55 I 117 75 u
22 16 SYM H4 36 B BE 56 W 118 T6 v
23 17 ETB 55 37 T By 57 w 119 Tr W
24 18 CAN 56 38 B Ba 58 b4 120 K ¥
25 19 EM 57 39 9 B9 59 Y 121 79 ¥
26 1A SUB 58 cr : a0 54 L 122 Th z
27 1B ESC 59 aB : 91 58 I 123 8 {
28 1C FS Bl 3aC o g2 50 ! 124 7 |
29 10 G5 £ 30 = 03 5D ] 125 D }
a0 1E RS B 3k - 04 5= ~ 126 TE -
a1 1F Us 63 3F 7 a5 5F 127 TF (delete)

Resource: http://www.s4a.us/support/cimco_faq.htm
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